A2 E A (A DB/ %7 2)

S e IR R S B g e RO B GO
wopvy S0 | 2R | AT AERE =A% SN 20199 (A) | 20189(B) | F4(A-B)
37 44,150,553 37,211,367 6,939,186
s 44,150,553 37,211,367 6,939,186
Fold2xF5aH 39,095,200 28,556,955 10,538,245
AA 2L 1,320,650 1,257,315 63,335
A FaddzF73) 8,790 13,966 25,176
AT FLddFA 4 8,790 13,966 25,176
1. AR FFIdUnsEd 8,790 13,966 25,176
7h A A A A 7,390
1) ZA e (Lyh) 750
7hH 71& 210-06 [160,0009 <19 x33]= 480
) 23 210-06 90,0009 x 17 x 34| 3= 270
2) Aol A7 210-07 |1,500,0009 X 4T) x 1 3] = 6,000
3) AILE 210-01 |50,00091 X 2% x 43]= 400
1) o3 230-02 15,0009 x 8% x 23| = 240
U ARErduSsEd 1,400
1) A7) 210-01 [200,0009 X774 x 18]= 1,400
A YA T 4,547 3,107 1,440
LK) 640 640 0
1. T 5A 640 640 0
7} w7 E 5A 640
1) FAg=cy 210-06 (80,0009 %3 x 13]|= 240
2) A5 210-06 (50,0009 x 27 x 13]= 100
3) QA= 210-06 |30,0009 % 2% x 13]= 60
1) $ojg= 210-01 |60,0009 x 2% x 15]= 120
5) 23 230-02 |15,0009 %87 x13]= 120
TYAAH T 3,907 2,467 1,440
1. QAF(AE) 9 4399 530 530 0
7} L Q1ALS] 1 5] 530
1) ZAs=ct 210-06 (80,0009 x 21 x 23] = 320
2) ¥ 9|3 230-02 |15,0009 X 77 x 23] = 210
4sgNE3 st 737 737 0
7} w9 e 7t 737
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BAY: AeEE w493 (9] - d )
)=
Bopnm ﬁg Eﬁi ﬂg NERE = A 20199 (A) | 2018d(B) | =7 (A-B)
1) &A=y 210-06 |80,000¢ x 24 X 25]= 320
2) L9 8x 210-01 |11,7009 x5% x 23]= 117
3) &ol3 230-02 |15,0009 X107 x 23] = 300
3. A YPAAY FZA 2,640 1,200 1,440
7k WARIARRIFEFA 2,640
1) AESTI (25 210-06 40,0009 x 6 x 43]= 960
2) AESH(ZS 210-06 40,0009 x 4% x 33] = 480
3) 2] 210-04 |8,0009 %109 x103]= 800
4) 8% 210-01 |50,0009 x8F x13]= 400
AT FE AL EE 510 510 0
A3 AR 510 510 0
L Az FdArae A4 510 510 0
7}, Q1A}2] ¢ 3 510
1) 994 210-01 |50,0009 % 3% x 18]= 150
2) 393 230-02 |15,0009 X6 x 43]= 360
22 ZAAME 1,670 1,670 0
ZEAAAL AT 1,670 1,670 0
1. BT T2 AR 740 740 0
7k mE A A S U E 740
1) FH5g 210-06 |80,0009 x 17 x 38]= 240
2) AT 210-06 |40,0009 x 17 x 28] = 80
3) L g=E 210-01 |50,0009 X 3% x 13]= 150
4) ¥ 9] 3 230-02 |15,0009 x 9 x 23]= 270
2. BHFTRA A RAS 930 930 0
7} WA FALA AR 930
1) AR (LR 300
7hH 71E 210-06 |100,0009 X 2% x13]= 200
W) %3 210-06 |50,0009 x 278 x 1A|Zk= 100
2) 9418 210-01 |14,0009 X 31| x 34| 7k= 126
3) AH] 210-04 |8,0009 X 437 x13]= 344
1) 9AgE 210-01 (20,0009 x 8% x 15]= 160
27 9B x| 9LA}7) A =} 1,305,133 1,238,062 67,071

B - folUEFERS - QAL - aH AR A7

2/47




(9] Q)

)=]
s NERE Y SENE 20199 (A) | 20184(B) | Z@(A-B)

THYEZ XY 1,305,133 1,238,062 67,071
1. LEAZA AN A Y 1,305,133 1,238,062 67,071

7h A AR B A Y 1,305,133

D 715 110-04 [1,642,71091 %359 x129= 689,939

2) A7 EHI A 110-04 [384,0009 x35% x 129 = 161,280

3) 7Y 110-04 90,5269 %199 x12¢¥= 20,640

4) WERZN 110-04 60,0009 %354 x 12¢= 25,200

5) A4 110-04 [130,0009 x35% x 129 = 54,600

6) A==t 110-04 |1,581,6109 x35% = 55,357

7) WAZ ] 110-04 |500,000€ X 357 x 23] = 35,000

8) A 7)Aol 110-04 300,0009 X 357 x 23] = 21,000

9) Y& 2)H) 240-02 |400,0009 % 359 = 14,000

10) HA&+ 320-12 |3,452,7149 x 35 = 120,845

11) =+ 320-12 |1,311,2009 x 357 = 45,892

12) 27413 320—12 |941,17191x 359 = 32,941

13) =790k 3 320-12 69,4859 x35% = 2,432

14) 71813 320—-12 |437,085¢1 %359 = 15,298

15) AR E 320-12 |305,9719 %359 = 10,709
] 2,617,097 1,259,757 1,357,340
IEHFNELY 32,691 34,763 22,072
R B N 16,450 17,522 A1,072
1. 25959389 3,350 4,422 A1,072

7h WS AT 3,350

1) A (deh 500

7hH & 210-06 160,000 X294 X 13]= 320

W) x3 210—-06 |90,000€ x 2 X 14| 7= 180

2) ) 210-04 |8,0009 x50 x 13]= 400

3) T=AT] 210-01 15,000€ X509 x 33]= 2,250

4) $39% 210-01 |50,0009 x 4% x 13]= 200
2. S HAR AR Y 13,100 13,100 0

AR e e 7,220

1) A=A = 210-01 |5,0009 X504 23]= 500

F4E5A9 - n 53N EL
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|
=
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% (91 -
Al A el 2= R 20199 (A) | 2018U®B) | =
A]_ot] = = = =M il o >

2) (b 210-06 |160,000¢ x 127 x 23] = 3.840
3) 211 210-04 |8,0009 x40 x 23] = 640
4) 7F4H) 210-04 |3,0009 x40 x 23] = 240
5) =479 210-01 10,0009 X509 x 13| = 500
6) AFET9 210-01 |50,0009 x 2% x 28] = 200
7) APEEFE 210-01 |50,00091 X 5% x 28] = 500
8) WAL= 210-01 (50,0009 X 5% x 23] = 200
9) &93 230-02 |15,0009 x 107 x 28] = 300
b A AEH &Y 2,780
1) ARz 210-01 |5,0009 x 304 x 23] = 300
2) ZdAtrE (4N 500
71 7| E 210-06 |160,000¢ > 17 x 23] = 320
W) x3 210-06 90,0009 x 17 x 24| 3k= 180
3) 21n] 210-04 |8,00041 x40 x 23] = 640
4) 2+Am 210-04 |3,000€ x 407 x 23] = 240
5) AFL-E-F 210-01 |50,0009 x 4% x 28] = 400
6) YAFLE 210-01 |50,0009 X 4& x 23] = 400
7) o3 230-02 |15,0009 x 107 x 28] = 300
o A2 A skl 3,100
1) Ak (b 1,000
71 78 210-06 |160,000¢ % 27 x 28] = 640
W) =3} 210-06 |90,000¢ x 278 X 24| 3t= 360
2) 21 210-04 |8,0009 x 257 x 48] = 800
3) 7FAH] 210-04 3,0009 X254 x 43] = 300
4) APREEF 210-01 |50,00091 X 5% x 28] = 500
5) AALLE 210-01 |50,0009 X 5% x 23] = 00
AR ENLRF 16,241 16,241
L A AR S A A G R 16,241 16,241
7t ARS] A A S AP LR 15,174
1) A= 210-01 |10,0009 X 400%-x 28] = 8,000
2) AT 1,080
7h 7]8 210-06 40,0009 x 97 x 28] = 720
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4% (9] - )

)=]
ﬂg Apeluj el B AbZ) o] 20199 (A) | 20184(B) | Z7(A-B)

W =3 210-06 |20,0009) X 9% X 24| 7k= 360
3) AT 5,400
74 7] 210-06 40,0009 x 97 X 103] = 3,600
W) 23 210-06 |20,00091 X 9™ X 104 7k= 1,800
4) 1% 210—-01 |5,600€ X 251 x 24| b= 280
5 *98= 210-01 |57,0009 x2F x138]= 114
6) &3 230-02 |15,0009 X 107 x 23] = 300
L ARS] SRR o S A 8- 1,067
D) A= (LR 250
71 78 210-06 |160,000¢1 < 1% x 18] = 160
W} 23} 210-06 90,0009 X 17 X 14| 7k= 90
2) An) 210-04 |8,00041 x 437 x 23] = 688
3) 7kAu] 210-04 (13,0009 x 437 x 13| = 129

31,383 31,383 0

AAFA A=A 16,160 16,160 0

1. ZASFAAARA L 16,160 16,160 0
e RTA R 5,680
D) ZAE= (LR 3,600
7 7)1 210-06 |100,000€1 x 127 x 23] = 2,400
W) 23 210-06 |50,0009) X 127 X 24| 7k= 1,200
2) TATe] 210—-01 [10,0009) X 52% X 43] = 2,080
L e Alshd g 2,430
1) 2] 210-04 |8,000€1x100% x 23 = 1,600
92) 7HA1H] 210-04 [3,0009 %1007 x 23] = 600
3) *98= 210-01 |23,0009 x5F x 28]= 230
oAl frendds 5,690
1) <8k 210-04 40,000 x40% x1¥= 1,600
2) 2] 210-04 |8,0009l X 55% x 13]= 440
3) 7HA1n)| 210-04 |3,0009 X559 x 13]= 165
4) w5731 210-01 |47,0009 x559 x18]= 2,585
5) <3 230-02 |15,0009 x 307 x 23] = 900
et TS A Y 2,360
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S R e B A=t i TS A R (2] - A )
)=
Ropnz f}o; ?};3 ﬂgj AR %A RN 20199 (A) | 20189(B) | FH(A-B)
1) A3 210-01 50,0009 x20% x 23] = 2,000
9) EA Q) 210-01 |15,0009 x 127 x 23] = 360
=R AT 15,223 15,223 0
1. 3EAA ¢ 15,223 15,223 0
7h 7128 A 13,824
1) 3R 274 210—06 32,0009 X 33 X 1444 7k= 13,824
. s Al 1,399
1) A=A = 210-01 |5,0009 X504 x 28] = 500
2) Z3Ar (4R 600
71 78 210-06 |100,000¢1 ¥ 2% x 28] = 400
W) =3 210-06 |50,0009 X 27 x 24| 7k= 200
3) AT 210-01 29,9009 X 5% x 23] = 299
FAA AL 2,000 2,000 0
ARAZARASEER L 2,000 2,000 0
1. XU A TR 3213 2,000 2,000 0
7}, AEA A %13 2,000
1) =479 210-01 10,0009 X 45% x 23] = 900
2) S99 210-01 |50,0009 x5% x 28] = 500
3) 893 230-02 15,0009 x 20 x 23] = 600
fFolnSAE 10,043 9,339 704
Folw &g 10,043 9,339 704
1 A9 IE AR IAAARN LR FLAA S 4,943 4,239 704
7h A F AT 2,564
1) A= 210-01 |5,0009 % 70%-x 13]= 350
2) Z3AE (4R 1,000
7hH 71E 210-06 |160,0009 x4 x13]= 640
W) 23 210-06 90,0009 x 4™ x 1A 7k= 360
3) ZAFA v AN 210-06 |40,0009 x 47 x18]= 160
4) 98 210-01 | 14,0009 x 39 x 124]3k= 504
5) 7hAlu] 210-04 (13,0009 x50 x 33]= 450
6) Sl ax 210-01 |5,0009 X 20% x 13]= 100
L et A A2 1,675
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(9] : 2 9)

AFA U < A5 ArEU S 20199 (A) | 20189 (B) | FH(A-B)

1) x=kelxta 210-07 |700,000¢ % 1t} x 15]= 700
2) $-olgx 210-01 |50,0009 X 6% x 13| = 300
3) &9]3| 230-02 15,0009 x 457 x 13]= 675
o fA LY TAST 704
1) ZA b (Lyh) 250
7hH 7] 210-06 160,000 x 17 x 13]= 160
W) x3t 210-06 90,0008 x 17 x 14| 7= 90
2) ZFAbAn] A n) 210-06 |70,0009 x 19 x13]= 70
3) g 210-01 |14,000 x 31} x 24| 7= 84
4) 7+21) 310-01 |3,00091 x50 x 135]= 150
5) LogE 210-01 |50,0009 x 3% x 13]= 150

2. X LdEA AL 5,100 5,100 0
7 e e A RSl B S el 5,100
1) 7+21n) 310-01 |3,0009 %3007 x 13]= 900
2) Lrjul-eakal %) 210-01 |3,950,000¢ x 13]= 3,950
3) La8= 210-01 |50,0009 x 2% x13]= 100
4) & 9] 3 230-02 15,0009 X107 x 13]= 150

126,517 142,709 216,192

T5EEX Y 126,517 122,884 3,633

1. E5a8A 948 126,517 122,884 3,633
7h A5G w5 A A A 126,517
1) ZARI7H] 41,402
7 7185 110-04 |29,393,950¢1 x 1= 29,394
) 244 110-04 |130,0009 x128= 1,560
o HAEF 7] 110-04 |500,00091 x 17 x 23] = 1,000
2} Axpor 110-04 1,532,2009x1%= 1,532
0}) ARrw sk 110-04 |1,209,6409 %1% = 1,210
H}) Uk 2] ) 240-02 400,000 x 1= 400
AP B A= 320-12 |2,891,3209 x 1= 2,891
o) 4tj 1. ¥ 320-12 2845809 x129= 3,415
2) X374 1,140
7h A5 210-06 80,0009 % 21 x 43] = 640
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PARSRS I =S AEU S 201949 (A) | 2018 (B)
) ArRA T 210-01 |100,000¢ X5F x 13]= 500
3) SrugdeAd 42,880
V) A 210-06 |32,00091 %107 x813]= 25,920
) Aln] 310-01 |8,0009 %419 X103 = 3,280
th 7r21H) 310-01 |3,0009 %417 x103]= 1,230
2h) A s 210-07 |750,0009 x 1o} x 23] = 1,500
uh) 2 &) 210-12 |30,0009 x 257 x 138]= 9,750
v WS A 21 210-01 |50,0009 x 12%F x 23] = 1,200
4) FAAB2A Y 14,220
7} <) 310-01 |40,0009 x 287 x 28] = 2,240
) 2] 310-01 |8,0009¢ %287 x103]= 2,240
th 7HAH] 310-01 |3,0009 %289 x103] = 840
Zh) 2l xt s 210-07 |750,0009 x 1t} x 23] = 1,500
uph) & H] 210-12 |30,0009 x 247 x 108] = 7,200
nh) £ 8% 210-01 |50,000¢ x 2% x 23] = 200
5) 4=3]oin] 220-01 |20,000€ x 39 X 180%8] = 10,800
6) 2] 3 230-02 |15,0009 X107 x 23] = 300
7) TREE 210-01 |5,0009 x 2007 x 18] = 1,000
8) SFWAAT 3,975
7h) AR (D) 450
1) 7)1 210-06 [100,000¢ > 173 x33]= 300
2) =3} 210-06 (50,0009 x 17§ x 34| 2= 150
) ek 210-04 |40,0009 X207 x 1= 800
th 2] 210-04 |8,0009 X207 x 43]= 640
b 7121 210-04 |3,00091 X207 x 48] = 240
uh) A3 8) 210-01 |92,2509 %207 x13]= 1,845
9) AE2Y 8,800
7hH AHEEE 210—-01 |100,00091 X 5% x 23] = 1,000
) A7) e 210-02 |300,0009x 129 = 3,600
h Fxo2 210-02 |100,0009 x12¥= 1,200
2h) d3}e 210-02 |100,0009x 129 = 1,200
") 7tAQ 210-02 [100,0009 x12¥= 1,200
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B STAS b K (9] - )

[e) 1=}
?};3 ﬂg ApeI e == Atz o 20199 (A) | 20189(B) | E7(A-B)
v A7) 52 28] 210-09 |50,000¢ X 1t x 129 = 600
10) Bl 2,000
7h Bz 87)7) 430-01 |1,000,000€ x 2th= 2,000
EA TS84 12,610 12,610 0
%/\‘]l&ﬁﬂ_%%/‘éﬂ 12,610 12,610 0
L E2d83rdAd 12,610 12,610 0
7h SAEERSAY 4,060
1) A=A = 210-01 5,000 X 100% x 23] = 1,000
2) 7 (A 300
71 78 210-06 |100,000¢1 ¥ 17 x 28] = 200
W) =3} 210-06 |50,00091 X 1% X 24| 7k= 100
3) AT 210-01 |12,5009 %1007 x 23] = 2,500
1) $34E 210—-01 |26,000€ X 5% x 23]= 260
U, AT 8,550
1) A= 210-01 |10,0009 X 100%-x 23] = 2,000
2) A (dh) 600
7hH 71& 210-06 100,0009 x 278 x 23] = 400
W) =3 210-06 |50,000¢1 X 2% X 24| 7k= 200
3) <:uhy) 310-01 |40,00091 %309 x 1= 1,200
4) 21n] 310-01 |8,0004l X 30% x 53]= 1,200
5) 7HA1H] 310-01 [3,0009 X307 x 103]= 900
6) A= 210-07 |500,000¢ x 1| x 23] = 1,000
7) AHEE 210-01 |55,0009 x30% x138]= 1,650
DSk 527,596 426,471 101,125
AR SEEXY 527,596 426,471 101,125
1. 259078944 200,000 200,000 0
eSS 200,000
D 25aE ol w889 200,000
7 ArEE 480
(1) 7] 210-06 |40,00091 x 87 x 18] = 320
(2) ¥ 210-06 |20,000491 X 87 X 14| 3= 160
) ez 73 210-13 |18,944,0009 x10¥= 189,440
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CA)

A S == A5 AU S 2019¢(A) | 20184 (B) ZH(A-B)
th & 2l3 230-02 15,0009 X 16 x 23] = 480
2} AR 9 620-03 |30,0008 X 10 x 325 = 9,600
2. A EZ2 ALY 151,400 80,000 71,400
7 FoAAE wF S gk 151,400
1) A zH] 18,260
7 7185 110-04 |1,333,0009 x 129 = 15,996
W} gz2= 320-12 |1,400,0009 x 13]= 1,400
o) 17483 320-12 41,5809 %x129= 499
2h) AR e 320-12 11,6009 x12¢¥= 140
mp) 78513 320-12 (12,0009 x129= 144
v w47 QokR 3 320-12 |6,7509 %129 = 81
2) A A= 210-07 |4,533,2009 x 1t} x10¥ = 45,332
3) Zg el An) 620-16 |25,527,6909 x 1= 25,528
4) AAAAN 62,280
7hH Wi E=AFAF 620—11 [2,350,0009 %134 = 30,550
W) =7+ a A 620-11 |2,130,0009 % 6.5 = 13,845
oh) SRR 620-11 |17,885,0009 x 12 = 17,885
3. Joj A PSS AEH Y 176,196 146,471 29,725
7t FAAPAE 2 176,196
1) Az1H] 108,491
7h Yol H F WA} 90,605
(1) 9% 110-03 |28,200,000¢] x 2 = 56,400
(2) ALt} 110-03 [1,200,0009 x 2 = 2,400
(3) A= FG 110-03 |20,0009 x 2% X 100A] 7+= 4,000
(4) 2% 731 210-01 |1,650,0009 x 2% = 3,300
(5) AAF AT 210-06 40,0009 x 27 x 33| = 240
(6) A FFAICEA QA Aok AFR] | 310-01 |2,000,0009 x 2% = 4,000
(7) FEAdzta 310-01 |4,800,0009 x 2% = 9,600
(8) A== 310-01 |300,0009! x 21 = 600
(9) H=A= 320-05 |2,500,0009 x 2% = 5,000
(10) == 320-05 |28,800,0009 x 2% X 4.5%= 2,592
(11) AR 320-05 |28,800,000¢ X 2% X 3.12%= 1,853
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il s B el s B v Sl B (The] : 29
Z =0 [e) )=}
wopvy S0 | 2R | AT NERE %A AEN 20194(A) | 20189®B) | Z7(A-B)
(12) =1 7] o0k 3] 320-05 [898,5609¥ X 2™ X 6.55%= 118
(13) 2R3 320—05 28,800,000€ x 2% X 0.87%= 502
wh) 71704 AR 718 17,886
(1) 9% 110-03 |7,500,000¢ x 2% = 15,000
(2) ARLR S 110-03 |20,000€ X 27 X 10X 7k= 400
(3) Axk+ 110-03 300,000 x 27 = 600
(4) 4rE=3 = x)n) 240-02 200,0009 x 29 = 400
(5) A 320—05 7,500,00049 x 2% X 4.5%= 675
6) A7 r3 320—05 7,500,000€ X 2% X 3.12%= 481
(7) =&7]| 8 9kH 3 320—05 [481,0009 X 2% X6.55%= 64
(8) AHAI K3 320—05 7,500,000€ X 2% X 0.87%= 131
(9) 7¢R3 320—05 7,500,0004 % 2% X 0.9%= 135
2) L Z 7o) 46,065
7b) A 10,840
(1) A=Az 210—01 20,0009 X 100% x 53] = 10,000
(2) AArrs 21006 |60,00091 x5 x 23] = 600
(3) 21n] 210—04 |8,000€ 5% x63] = 240
) 33 27k A H] 310-01 |3,0009 X601 x 203]= 3,600
th A eSS S 210—11 50,0009 X 155 x 303] = 22,500
o} P8 8,000
(1) AZ39] 210—01 50,0009 x 5% x 23] = 500
(2) AHF-&F 210-01 |50,00091 X 3% x 103] = 1,500
(3) FAL=E 210—01 50,0009 X 205 X 63] = 6,000
uh) &9 3] 230-02 [15,0009 x5 X153 = 1,125
3) 71#-9H] 5,520
7hH EuAlH) 210-05 [8,0009 x5% x63]= 240
}) odn) 3,120
(1) I 220-01 |20,0009 X674 x103]= 1,200
2 = 220—01 40,0009 x 6% x 83| = 1,920
th 7] B FZ=21H] 230—-01 (80,0001 x 129 = 960
Zh) A AFAF =71 250—02 100,0008 x129= 1,200
4) ¥+ 6,600
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FAY AR g SA 4% (she] @ 29
= o A=)
wopvy S0 | 2R | AT Ariue] % A5 Aol 20194 (A) | 20189(B) | F7(A-B)
b A7 210-02 |400,0009 x 129 = 4,800
W) Azte & 210-02 |150,0009 x129= 1,800
5) BA7)el A w2 210-07 |195,0009 %129 = 2,340
6) A7)5A T 210-09 |40,0009 x129= 480
7) A A8 9-A e 210-09 100,000 x 123]= 1,200
8) A|Al ] --#) e 210-09 |500,0009 X 103] = 5,000
9) H|ZE-2]H] 430-01 |500,0009 x 1dj= 500
et wSFA A Y 45,423 43,038 2,385
S TR A 43,203 40,818 2,385
1. A TAS- S 43,203 40,818 2,385
7}, o1 AN 42,423
1 7= 110-04 |1,643,0009 x12¢= 19,716
2) A7 LRI 110-04 |555,0009 x 129 = 6,660
3 ST 110-04 40,0009 x12€= 480
4) WEHZH| 110-04 (60,0009 x 129 = 720
5) F2H] 110-04 130,000 x12¢= 1,560
6) Axpsor 110-04 (87,0109 x 22 = 1,915
7) AFLRE TG 110-04 130,510 %209 = 2,611
8) WA F 7] 110-04 |500,0009 x 23] = 1,000
9) A7)l 110-04 300,000 x 29 = 600
10) 9+ 2 ) u) 240-02 400,000 X 1% = 400
11) H8F 320-12 |3,068,0009 x 1= 3,068
12) Zwldd= 320-12 |35,261,2009 X 4.5%= 1,587
13) AR 320-12 |35,261,2009 X 3.23%= 1,139
14) =Q1A7] kR & 320—12 [1,139,0009 X7.38%= 85
15) 1413 320-12 |35,261,0009 X 1.5%= 529
16) AHA) B3 320-12 |35,261,0009 X 1%= 353
v, 2 8HA S ALo H] 780
1) T 220-01 |20,0009 x 1% X 293] = 580
2) T 220-01 40,0009 X 1% x53]= 200
PR E - eS| 2,220 2,220 0
1. B TLAHAY 3 2,220 2,220 0

15 - foll2FEaG - aF-SGBEAY - ASaEBHAL - ABFAAFBI0EA Y
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il s B el s B v Sl B (The] : 29
= o A=)
Ropnz f};‘" ?};3 ﬂjﬁf Al el == RESE 20199 (A) | 2018€(B) | Z7(A-B)
7F. 3 X o 3 2,220
1) A (dh 440
b 7= 210-06 |70,000¢) x4 x13]= 280
W) 23 210-06 |40,0009) x 473 x 1] 7h= 160
2) A 210-06 40,0009 x 127 x 13]= 480
3) AFEY 210-01 |30,0009 x 20% x 13| = 600
1) $94F 210-01 50,0009 x 8% x 13]= 400
5) &2 3 230-02 |15,0009 x 207 x 13| = 300
A5 oA 3t 1,396,082 327,610 1,068,472
S ASBA A 65,400 41,610 23,790
1. A5 TS 65,400 41,610 23,790
AR S R Ea| 65,400
1) ZHAp=cr 210-06 |40,0009 x 21 X 10417+ X 623] = 49,600
2) 2pEFA 7 210-07 |200,0009 x5 x 43| = 4,000
3) AF= 210-15 50091 X 1,400% x 48] = 2,800
4) e E 210-01 |11,25090 x 4007 x 2%= 9,000
ALSAZERQ 105,000 86,000 19,000
1. $AF5LY 105,000 86,000 19,000
7t FRAFEEY 80,000
1) 258w 620-03 |500,0009 x 758 = 37,500
2) 8w 42,500
1 B9 620-03 |500,000¢ x 257 = 12,500
) A 620-10 |500,0009 X 60 = 30,000
v A ALde-D 25,000
1) Zsukn) 310-01 |20,0009) x 107 x 208] = 4,000
2) 4] 310-01 |8,0009 % 10% x 1508 = 12,000
3) 7F21H] 310-01 |3,0009 %107 x 150] = 4,500
4) WEH] 310-01 |25,00091 x 107 x 108] = 2,500
5) FALon) 210-12 |200,0009 X 10% x 18] = 2,000
S A A DAANA 1,225,682 200,000 1,025,682
1. SR A SAH B 1,225,682 200,000 1,025,682
7}, 3 2] ALk A A S Al 5 1,225,682
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e B Rt S R s P R (cFe] : 19

Z o )=
P IO o Arg1ped 2= ] 20199 () | 20188 (B) | Z4(A-B)

1) A 420-02 |1,150,800,000¢ X 4.772%= 54,916

2) A]Adn] 420-03 |2,574,0009 X 400m'= 1,029,600

3) HF-U B EFAM] 420-03 121,200,0009 x 14 = 121,200

4) 7+&]H] 420-04 |1,150,800,0009 X 1.195%= 13,752

5) ARt 420-05 |1,150,800,000€1 X 0.54%= 6,214
58854 4d 123,410 15,000 108,410
e e S84 st 116,210 7,800 108,410
1. SRAE} S 108,410 0 108,410

7F AadEol 3k ERA 108,410

1) A8 YAl =45) 210-06 |3,300,000€ X 17.= 3,300

2) AN 420-02 100,000,000 x5.11% x 131.= 5,110

3) AlAdH] 420-03 |100,000,0009 x 1= 100,000
2. 32353 enSETZ IS 7,800 0 7,800

7F Aadwsldlesn S22 138 1,000

1) x}eElxte 210-07 |500,0009 x 1t} x 13] = 500

2) =AY 8E 210-01 |50,0009 x 10% x 18] = 500

. S AR BLA 3,300

1) 2= A 2 210-01 |5,0009 X 90%-x 13]= 450

2) 21n] 310-01 8,000 x90% x 13| = 720

3) &3k7]7] 210—-15 |1,200,000¢9 x13]= 1,200

4) E5 N 210-15 |250,0009 X1 x 23] = 500

5) f=oin] 310-01 |100,0009 x 2% x 13| = 200

6) YAFEF 210-01 |46,0009 x5% x138]= 230

th oty Es A 3,500

1) Zola]&En) 210-15 |1,000,000€ x 371= 3,000

2) TH9EE 210-01 |50,000€) X 10% x 13]= 500
st Esto| EF 5 A 84 ¢ 7,200 7,200 0
1. GE3IU 278 w5 X 473} 7,200 7,200 0

I R e A R e 700

1) AAg 210-06 40,0009 x 10 x 13]= 400

2) S98% 210-01 |50,0009 x 6% x 13]= 300

L}, o] S o] ZhAL o] w7 &) 700
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TFNEA LA (] - A9

o =]
?};3 ﬂg AU S A5 g 20199 (A) | 20189 (B) | #(A-B)
D) Ak (b 500
7h 7] 210-06 160,000 x 17 x 23] = 320
W) =3} 210-06 90,0009 x 17§ x 24| Zk= 180
2) £9x 210—01 |50,000¢ x 4% x13]= 200
o 2ENFADZZ TR 3,700
1) 21 310-01 (18,0009 x50 x 23] = 800
2) 721 310-01 |3,0009 X507 x 23] = 300
3) FAdxtm 210-07 |600,000¢ x 1t x 28] = 1,200
4) LZ W] 210-12 |600,000¢ x 23]= 1,200
5) &9 8% 210-01 |50,0009 x 2% x 28] = 200
2k TRt s op A SR R O R 2,100
D) A (LRb) 300
7h 7] 8= 210-06 |100,000¢ x 1% x 28] = 200
W =3 210-06 |50,000¢ X 1 X 22| 3}= 100
2) A1) 310-01 |8,0009 x40 x 23]= 640
3) 7+21H) 310-01 |3,000€ x 407 x 23] = 240
4) AFA A s 210-07 |520,000¢ x 1tf x13]= 520
5) S0 9% 210-01 |50,0009 % 8% x 13]= 400
THHTAEE 18,700 19,700 21,000
R Bt R ] 18,700 19,700 A1,000
1. 59gET2 ALY 18,700 19,700 41,000
7h ZdAT R (4R 210-06 |70,0009 x 27 x 50%] = 7,000
b SHY b w58 11,700
1) ASLE 210-01 |50,000€ x 107= 00
2) TFEAA} 210-01 |50,0009 x 107= 500
3) AHTELE 210-01 |50,0009 X 10% x 43]= 2,000
4) T 210-03 |250,000¢ x 47 x 23] = 2,000
5) ANAFA RS 210—-09 |50,00091 X 7% x 23] = 700
6) w7877 6.000
7h A2 7) 430-01 600,000 x 8tj= 4,800
W) oy (AFA Al 2 8) 430-01 |300,0009 x 47}= 1,200
S YA T 11,886 10,406 1,480

%
)
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(9] - )

)=
s AF U == Az 20199 (A) | 20184®B) | S#(A-B)

SAREA =X A 7,286 5,806 1,480
1. ARG SLA L 5,110 3,630 1,480

7F, SRR e = 9-1] 8] £ 5,110

1) nEdEEY 2,560

7h A& 2,560

1) =53t 620-03 [2,560,0009= 2,560

2) tuZEAALeY 2,550

7h gudET 2,550

1) 5w 620-03 [1,410,0009= 1,410

(2) g 620-03 |1,140,0009= 1,140
2. A d #E 2,176 2,176 0

7} ShA ek w A P w S 2,176

1) 2] 210-04 |8,0009 X847 x13]= 672

2) A= E 210-07 500,000 X2t x 13]= 1,000

3) dH= 210—-15 |3,00091 x84 x 13]= 252

4) 9% 210-01 |3,0009] x 8474 x 18] = 252
= L | 4,600 4,600 0
1. St Z oA nkx 3,000 3,000 0

7h 3| EA AL w5 3,000

1) A3 210—12 |20,000¢ X307 x13]= 600

2) A& w87 2,270

71 ZEAEE (LR 500

(1) 71+ 210-06 |160,0009 x 27 x 18] = 390

(2) =3 210-06 [90,000€ x 2 X 1A 3t= 180

) Znkn) 310-01 40,0009 X309 x 1= 1,200

b 28] 310—01 |8,0009 x30% x23]= 480

2p) 712 310-01 |3,0009 X309 x 13| = 90

3) 9 8= 210—01 |65,0009 x 2% x13]= 130
2. A=A ¢ 1,600 1,600 0

7h e EA = 1,600

1) Aol gE 210-01 50,0009 X 2§ x 53] = 500

2) S9E&E 210-01 [50,0009 X 2% x53]= 500
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A S A5 ArEU S 20199 (A) | 2018 (B)

3) 9] 3 230-02 15,0009 x 8% x 53] = 600

G3 =29 152,926 148,898

GG E AL 152,926 148,898

1. §(Wee) ZZHELY 152,926 148,898
7} @171 91,099
1) A&/ eAE 59,539
7h 7185 110-04 |1,977,9109 x28 x 129 = 47,470
W) F21n] 110-04 130,0009 % 2% x 129 = 3,120
th A7)l 110-04 300,000¢ % 2% x 23] = 1,200
o)) A&7 110-04 |500,0009 x 27 x 23] = 2,000
op) Az}t 110-04 65,1209 x 2% x 169 = 2,019
vh) AFL2SG 110-04 12,2109 X2 X 1201 3t= 2,930
A}) EhEE B 2] p) 240-02 400,000€] x 24 x 13]= 800
2) A}3] 2 A A} 31,560
7h 71 110-04 11,834,140 %1% x12¢= 22,010
W) A7 23oarE 110-04 [180,0009 x 1% x12¢= 2,160
h 7S 110-04 40,0009 x1% x12¢¥= 480
) wER ZH] 110-04 60,0009 x 14 x129= 720
up) FAn] 110-04 130,0009 %1% x129= 1,560
v A7) Ak 2 110-04 [300,0009 x 173 x 28] = 600
AP WA ZE ] 110-04 500,000 x 17 x 23] = 1,000
o}) oAx}E ok 110-04 68,2909 x 18 x16Y= 1,093
2h AFTETY 110-04 12,8109 X 11 X 1204 7F= 1,537
2}) uhEaE 2] 240-02 400,000 x 17 x 13]= 400
. B A= 9,524
1) AEAFA} 320-12 |3,510,4459 x 2 = 7,021
2) A}3] &= A} 320-12 (2,503,450 x 19 = 2,503
ot AR 9,353
1) =M+ 320-12 |91,098,4809 x4.5%= 4,099
2) A7 K3 320-12 |91,098,480¢ % 3.23%= 2,942
3) +Q1&7] QoFr 320-12 |2,942,4809 X 7.38%= 217
4) 1813 320-12 |91,164,4809x1.5%= 1,366
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(5] : 29)

A S == A5 ArEU Y 20199 (A) | 20189 (B) | TH(A-B)

5) AHA] K3 320-12 |91,164,4809 X0.8%= 729
g}, AEAFTrol 2o n) 220-01 |20,0009 x 37 x 1208 = 7,200
o}, $-on) 35,750
1) A= 210-01 |300,0009 % 103]= 3,000
2) ¢1g=n 210-01 500,000 x 43]= 2,000
3) TAA 7| =T 210-01 200,000 x 48] = 800
4) TREE 210-15 500,000 X 63]= 3,000
5) T Z 19 H] 9,000
7H Az E 3o 210—-15 |800,0009 X103 = 8,000
W) Az g 7 aa)n) 310-01 |8,0009 x 259 x 53] = 1,000
6) gl A ] 210-15 |340,0009 x 53] = 1,700
7) Ag X 2 A 210-15 900,000 % 103] = 9,000
8) ry B A 210-15 |250,0009 X 53] = 1,250
9) A 3g 6,000
7h v 210-02 |300,0009%x12¢¥= 3,600
) A 8-2]1) 210-09 200,000 %x12¢= 2,400

125,830 35,830 90,000

=2 125,830 35,830 90,000

AERAGEZ 7RSS 125,830 35,830 90,000
7hAZA T ZZE 7L 50,000
1) ZArd (4R 5,000
7hH 71&= 210-06 |160,0009 %29 x103]= 3,200
W) =3} 210-06 |90,0009 x 29 x 10| 7}+= 1,800
2) 2] 210-04 8,000 x50 x 23] = 800
3) 7FAn] 210-04 |3,0009 x50 x 73] = 1,050
4) A a 210-07 |500,0009 X3t x103]= 15,000
5) AZ=H] 210-01 |450,0009 x 23] = 900
6) A3 eTF=En A 210-11 |50,0009 X 300% X 13]= 15,000
7) A2 A3 2] 9= ) 210-15 |400,0009 x 257 = 10,000
8) & 23] 230-02 15,0009 x50 x 33]= 2,250
v A2 A GA A 7,600
1) An 310-01 |8,000¢ x 200 x 13]= 1,600

18/47




RGN e A A P RS (cFe] : 19

Chi U Apeiuy el == NENE 20199 (A) | 2018d(B) | ZZH(A-B)
P IR A B T e h - T
92) 7HAH] 310-01 |3,0009 X200 x 13]= 600
3) A|Adelxta 210-07 195,000€ x 14 x 203]= 3,900
4) AEe] 210-01 |50,00091 x10F x18]= 500
5) AFELE 210-01 |50,00091 X 10% x 13]= 500
6) WAL= 210-01 |50,00091 X 10 x 13]= 500
o AR5 10,600
D A (LR 5,000
7hH 7]& 210-06 [160,0009 %29 x103]= 3,200
W) =3} 210-06 90,0009 x 2% X 10A]F= 1,800
2) 2] 210-04 |8,000€ X100 x 13] = 800
3) 7+21H] 210—04 3,000€ %1007 x13]= 300
4) TAF] 210-01 |10,0009x 453 x108]= 4,500
2h A 2w Suh 3 57,630
1) 2] 310-01 |8,000¢ X 2007 x 13]= 1,600
2) 72 310-01 |3,000€ %2007 x 13] = 600
3) A e 210—07 [500,000€9] X 3t X 103] = 15,000
4) F2A4 A 210-12 |150,000€ x 7071 = 10,500
5) N ZH e 29,930
7P AFRSE 210-01 |50,000¢1 X 10% x 13]= 500
) AREE 210-01 |46,5009 X 20% x 18] = 930
th AFEL9) 210-01 |50,000¢1 X 10% % 13]= 500
2h) A2 ] 210-15 |400,0009 X 7052 = 28,000
IESEXAY 4,248,420 4,696,084 £447,664
I AT RS ] 406,672 405,520 1,152
W3} & 5 7 2 ¢ 406,672 405,520 1,152
1. 9358 g 3434 51,152 50,000 1,152
7t Eerhestn e 30,000
1) A 210—06 32,0004€1 x5 X 3A|ZFx 325 = 15,360
2) 7+A1H] 310-01 |3,0004€ x 757 x 32F= 7,200
3) A &En) 210-01 23,2509 X 10714 X 325 = 7,440
e e TR 21,152
1) A= 210-01 |5,000€ X 1004 x 13] = 500
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A S A5 AU S 20199 (A) | 2018 (B)

2) nlSsw A 210-13 |9,216,0009 X 27§ &= 18,432
3) A3 F=n) 210-01 |40,5009 x5 2% 8] d= 1,620
4) §23 230-02 |15,0009 x 207 x 23] = 600

2. ERZEIRLY 60,000 60,000
7h Sx9 620-03 |20,000,0009 x 1= 20,000
U 253y 620—03 20,000,000 X 23= 40,000

3. BT wgA 295,520 171,654
7} a5 ek w e %) 295,520
1) 25w 620—03 [8,174,0009 x213= 171,654
2) Fs8hil 79,866
7H &9 620—03 5,704,7209 X 101= 57,047
wh A 620—10 5,704,720 X 431 = 22,819
3) 11ssw 33,000
7 39 620-03 [11,000,0009 X 1= 11,000
H A+ 620—10 11,000,0009 x 27.= 22,000
4) FArdAAREZA A 11,000
7h Fstu 620—10 |5,500,0009) x 13= 5,500
W) 153w 620-10 |5,500,0009 X 11= 5,500

3,529,548 3,696,440

IR 3,529,548 3,696,440

L EoEREFA 3,201,720 3,424,976
7h Sx9 159,354
1) 39 620—03 106,650,000 = 106,650
2) A 620-10 |52,704,0009= 52,704
L 253y 620—03 931,569,000¢= 931,569
o}, Zstw 805,393
1) 39 620—03 |338,402,000¢= 338,402
2) AH 620—10 |466,991,0009= 466,991
gt 15w 1,305,404
1) 39 620-03 |318,711,0009= 318,711
2) A 620-10 |986,693,0009 = 986,693

2. AAAEAEA Y 327,828 271,464
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il s B el s B v Sl B (9] A9
o A=)
wopvy S0 | 2R | AT Aripel %A% SESE 20194 (A) | 20184 (B) | F7(A-B)

7} x4 14,519

1) 39 620—03 10,676,000 = 10,676

2) A+ 620-10 |3,843,0009= 3,843

L} 258w 620-03 101,680,000 = 101,680

o}, =8k 81,934

1) 39 620—03 136,745,000 = 36,745

2) A 620-10 |45,189,0009= 45,189

g 1538ty 129,695

1) 29 620—03 31,922,000 = 31,922

2) AHY 620—10 97,773,000 = 97,773
rolxdlg S ANA 255,000 250,000 5,000
oS nnSEANIAY 255,000 250,000 5,000
1. 3027529 255,000 250,000 5,000

A TR A =N B B 69,040

1) vkl 3 35,000

7H &9 620—03 1,000,000 x 301.= 30,000

h AHY 620—10 1,000,000 X 51.= 5,000

PR 0 e e ) B B 210—15 474,0009 X103 = 4,740

3) eSS AT YL 29,300

7h A (R 4,600

(1) 7]1% 210—06 100,0009 %23 x13]= 2,300

(2) =3 210-06 |50,000¢ X 23 x 2| 7t= 2,300

) o4=$-o3n) 210-01 400,000¢ X198 = 7,600

o} <Eh) 210—04 40,0009 X 60% x 33] = 7,200

b A1) 210—04 8,000 X609 x 153] = 7,200

ul) 7-2A14] 210—04 13,0009 X609 x153] = 2,700

U, St A asd 25,000

1) 3¢ 620-03 |1,000,000¢ x 2231= 22,000

2) AHY 620—10 | 1,000,000¢ X 33= 3,000

t}. &F sl w99 99,940

1) IS EES] 4,940

7}) 7L/\} %L (2uh 1,500
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il s B el s B v Sl B (The] : 29
2 N o 1=
Ropnn /iqj ?};3 ﬂg Ayl = Az 20199 (A) | 20184 (B) | E7(A-B)
1) 7]% 210-06 70,0009 x5 x 23] = 700
(2) =3} 210-06 |40,0009 x5 x 44| 7}= 800
) 78St 210-06 40,0009 x24% x13]= 960
th AH] 210-04 |8,00091 %1807 x 13]= 1,440
2} 7HAn) 210—04 3,000 X180 x13]= 540
up) A|AdQlxtE 210-07 250,000 x 14 x 23] = 500
2) AEEorel A ¢ 95,000
7hH EE&Foly] & 240-01 |1,500,000€ x40%= 60,000
) wELAA L 14,100
(1) <ukn) 310-01 40,0009 X80 x13]= 3,200
(2) AH] 310—01 8,000 X80 x43]= 2,560
(3) 72N 31001 |3,00091 %809 x13]= 240
(4) 2ol ats 210-07 700,000 x 2t} x 23] = 2,800
(5) A&n) 210-12 |66,2509 %807 x 13]= 5,300
th A (LR 900
(1) 71& 210-06 |100,0009¢ x 17 x 63] = 600
(2) =3} 210-06 |50,0009 x 19 x 6] 7t= 300
2h BEAFA 15,000
(1) APLF A =H) 210-12 |500,000¢ x 107} = 5,000
(2) Wy 210-15 |20,000¢ x 307] x 13]= 600
(3) A 210-15 |300,0009 x 1842 % 13]= 5,400
(4) B-AL-odn) 210-15 |200,000¢ x 2071 = 4,000
= #7138 2,000
(1) A 310-01 |8,0009 %1007 x 13]= 800
(2) 7HAH) 310-01 13,0009 X100 x 13]= 300
(3) AF=9] 210-01 |20,000€¥ x 20% x 13]= 400
4) AFEeE 210-01 |50,00091 X 10% x 13]= 500
uh) & o] 3 230-02 15,0009 x40 x 53] = 3,000
2k A S B A e T 21,020
1) A (dh 210-06 |50,0009) X 207 X 10A] 7t= 10,000
2) vpSatwElw HE 21 Y 210-13 |1,000,000¢ x 10724~ = 10,000
3) 93 230-02 |15,0009 x17% x43]= 1,020
T8 - GOlUEEETS - BREAAY - polESua ol AANA — o] 28 m w3 X A 22/47




(] A 9)

AP S =A== AEU S 2019 (A) | 20189 (B | S (A-B)

wh, SHA QL A% 4] 9 30,000
1) An) 210-04 |8,000€ % 1,000 x 13]= 8,000
2) 7+ 210-04 |3,000€ x1,000% x 13]= 3,000
3) AFAxt= 210-07 |600,000¢ x 1t X313 = 18,600
4) $939% 210-01 |50,0009 X 8% x 13]= 400
B}, Q1S A 9 10,000
D Ward (A5) Z7kekel 5 3,100
7h A (5E) 1,000
(1) 7]% 210-06 |300,0009¢ x 21 x 13] = 600
(2) %2 210-06 |200,000¢) X 27 x 1A zk= 400
) 7+ 310-01 |3,0009x100% x 13]= 300
) E=AT 210-01 |15,0009 X 1007 x 18] = 1,500
2h) 393 230-02 |15,0009 X 107 x 23] = 300
2) SAEETHAL 2,300
7h A 210-06 |300,000¢] X 51L= 1,500
) 7k 310-01 |3,00091x40% x51= 600
o =YEE 210-01 |50,0009 % 45 x 18] = 200
3) A=A YR T2 A E 4,600
7hH 28] 310-01 8,000¢ X307 x53]= 1,200
wh) 7HA1H) 310-01 |3,0009 x30% x 23] = 180
h 2 Atm 210-07 |500,0009 X1t} x 23] = 1,000
2} T A &3] 210-01 |30,000¢ x40 x18]= 1,200
o) Z348n) 210-12 |30,0009 X 309 x 13]= 900
) 982 210-01 |60,0009 X 2% x13]= 120

TSEAS 57,200 49,200 8,000

A=4 57,200 49,200 8,000

LIS EA AR GR Y 57,200 49,200 8,000
b BB 8t mA ¢ 54,200
1) 258w 620-03 |42,200,0009 X 13.= 42,200
2) »YZsn 620-03 |6,000,000¢ x 13L= 6,000
3) AFg = 620—10 |6,000,000¢ X 13L= 6,000
U w8 A A A 9 240
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(9] - )

AhE

20194 (A)

2018 (B)

=

[¢)

7ZH(A-B)

310-01
310-01
210-07
210-07
210-12
210-01

80,0009 X3 x13]=

8,000 X 36% x 23] =
3,000¢1 X 36 x 23] =
500,000 X 1t x 18] =
225,000 x 14 x13]=
40,0009 X 257 X 13]=
24,3009 X 10F % 18] =

240
2,760
576
216
500
225
1,000
243

H/ASES

116,871

415,405

A298,634

BA#AE

3,317
882

94,381
882

A91,064
0

210-06
210-06
210-01
210-01

70,00091 X3 x 13]=
40,0009 X 3 X 1A 2=
14,000€ X 37 X 64| 7=
50,0009 X 6% x 13]=

882
882
330
210
120
252
300
2,435

882

93,499

0

291,064

210-01
210-01

210-06

310-01

10,0009 X 251.=
25,0009 X 1&x15]=

80,0009 x 11 x23]=

20,0009 X5 x 43]=

275
275
250
25
2,160
1,760
1,760
400
400

275

2,160

i
1>
ue
AL

92,899
3,184

300,369
4,940

A207,470
A1,756

3,184
1,276

4,940

A1,756
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VL HEA A G
o | A RERE CEpE NENE 201949 (A) | 20184(B) | Z%(A-B)

D) ZAE= (LR 440

7hH 71E 210-06 |70,0009 x 47 x13]= 280

W) 27 210—-06 |40,000€ x 47 X 12| 7= 160

2) d1s 210—01 | 14,000¢ X 31} x 8A]7}= 336

3) Lojgx 210-01 |50,0009 % 10% x 18] = 500

. 22870 4274} 1o

1) $938= 210-01 |79,0009 x 2% x 18] = 158

L T A R R I R s 1,750

) AA59 210—-06 |50,0004 X 1 X 353] = 1,750
EETA= S 26,690 26,690 0
1. S 52428k F-2- 9 73 H] 26,690 26,690 0

7}, a2 2} eke-odn) 620-03 |2,669,000¢ X 10t]= 26,690
St FA A NA 63,025 268,739 £205,714
1. SR FA7)TFAA L 63,025 268,739 A205,714

7F =52 7] 0 A 63,025

1) 253w 620—-03 |32,415,0009= 32,415

2) nEsw 30,610

7H AH 620—10 |30,610,000¢1= 30,610
ZEA S IEE 20,655 20,655 0
A& 3 A4 20,655 20,655 0
L ASA SR A4 1,000 1,000 0

7P. ?ﬁ%iﬂ%ﬂ@ 1,000

A= 310-01 |50,000¢1x10% x 13 = 500

2) oﬂ%E 210-01 |50,0009 % 10% x 18] = 500
2. AZAdA S 3 1,600 1,600 0

7P %ﬂ%i 9 A S 2 1,600

TAH 310-01 |50,0004¢ % 247 x 13| = 1,200

2) %og%% 210—-01 |50,000€ X 8% x 13]= 400
3. 71ekA| &) 3] 18,055 18,055 0

7h 57y o 5 3,940

D) &7t 3] 3,940

7hH A A= 210-01 |5,0009 X 112%-x 18] = 560

- 4FAEdEZ

T - A5 AL
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(9] - )

AF A= AEU 20199 (A) | 2018 (®B) | S#H(A-B)

) &4k 210-01 |60,000€ X 124] X 63| = 360
h A 1,440
(1) 7)= 210-06 |40,00091 x 1278 x 23] = 960
(2) =3} 210-06 |20,0009 X 127 X 2] 3= 480
2 A8 310—-01 |8,00091 %85 x 13]= 680
uh) AJAdelaE 210—07 |200,0009 % 14 x 13| = 200
up) AFEZ 9] 210-01 |50,000€ X 14&+13]= 700
L w57l o 3 6,395
1) S73 3] 4,395
7h 2l A s 210—-07 |400,000¢ x 3t} x 13] = 1,200
) =470 310-01 |71,0009 X457 x13]= 3,195
2) WA AA 53] 2,000
7p) 2] 210—-04 |8,00091 %30 x 33]= 720
) 7F21n) 210-04 |3,0009 x 30% x 73] = 630
h A7 L% 210—-01 |50,000€ X 13% x 13]= 650
o ghvbg w5 Ak 3 3,070
1) A= A2t 210-01 |5,0009 X 2005 x 13]= 1,000
2) #5ut 210-01 |60,0009 X 124] x 43| = 240
3) AR 210-07 |250,0009 x 14 x13]= 250
4) AE79) 210-01 |79,0009 X 4% x 57 7]= 1,580
2k, ANEA A S o 5] 4,650
1) e 210-01 |60,0009 x14] x43]= 240
2) AET] 210-01 |51,5009 X 8% x5%7]= 2,060
3) WAL E 210-01 |50,0009 X 20% x 13]= 1,000
4) ¥ ol3 230—-02 15,0009 x 451 x 23] = 1,350

14,160,128 13,495,617 664,511

6,796,396 6,406,744 389,652

=29 6,796,396 6,406,744 389,652

. S 7 B2 H) 6,746,396 6,383,744 362,652
7h 429 620-02 |816,254,0009 = 816,254
U 258w 620-02 |4,188,418,0009= 4,188,418
t} Fskw 620—02 |1,741,724,0009 = 1,741,724
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(9] : 2 9)

)=
o | A RERE %A% RENE 20199 (A) | 20189(B) | Z7H(A-B)

2. a7l GH| X Y 50,000 23,000 27,000

7h. w skl A A 50,000

1) Fstu (1) 620—03 16,000,0009] x 1 1= 16,000

2) 15stw (1) 620—03 |34,000,000¢9 x13= 34,000
AFeHA A =) Y 7,363,732 7,088,873 274,859
QAN AR AR Y 6,224,992 5,934,843 290,149
1. QAN AR F TR Z 6,224,992 5,934,843 290,149

7} el An x| Y 620—08 |6,224,992,0009 = 6,224,992
L-Gu| AR A TR L 1,138,740 1,154,030 A15,290
1. L9 AAASTHZ 1,138,740 1,083,326 55,414

7}, st 7] E-2-4d v 620-09 |1,138,740,0009= 1,138,740
NS AMNAAAL 16,632,034 7,432,777 9,199,257
IS AMNANA 16,632,034 6,805,553 9,826,481
A A TS ANA 16,632,034 6,805,553 9,826,481
1. ZAHSA 7,289,672 2,928,649 4,361,023

7. vpeb R 252,321

1) AAm] 420-02 238,230,0009 X5.195%= 12,376

2) Al AN 238,230

hH 3% 420-03 [11,830,000€ x1 4= 11,830

W) T ED) 420-03 |11,830,0009 x 14 = 11,830

h oz EAE) 420-03 15,960,0009 x 24 = 31,920

2h) Eolx (AA) 420—-03 13,300,0009 x 124 = 13,300

) AEx(EE02) 420-03 [15,000,0009 x 14 = 15,000

v A& (A A) 420-03 |15,960,0009 x 324 = 47,880

AP Y% 420—03 11,830,0009¢ x84 = 94,640

oh) A= 420-03 11,830,000 x 1= 11,830

3) A on) 420-05 238,230,000¢ X0.720%= 1,715

L}, oAb 522,138

1) AAm 420—02 495,774,0009) X 4.598%= 22,795

2) AN 495,774

7H 13z (A1) 420-03 19,330,000¢ x 22 = 18,660

W 3 E(EH 420-03 19,330,0009 x 32 = 27,990
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AF A= AEUY Y 2019¢(A) | 2018€(B)
o) 2 (E=waA) 420-03 19,330,000¢ x 22 = 18,660
hH FAx 420-03 |4,303,000¢1 x 484 = 206,544
up) Eolx 420-03 19,330,000 x 24 = 18,660
Hp) Folx 420-03 19,330,000 x 44 = 37,320
AP APz 420-03 |9,330,00091 X 64 = 55,980
op) A= 420-03 |9,330,00091 X 54 = 46,650
2 AE (AFE) 420-03 |9,330,0009 x 14 = 9,330
b 3 el = (A 420-03 19,330,000 x 24 = 18,660
7h s8 s (FA2) 420-03 19,330,000 x 1= 9,330
Ep slEl= 420-03 19,330,0009 x 14 = 9,330
b s 420-03 |9,330,00091 x 24 = 18,660
3) Al 420-05 |495,774,0009 X0.720%= 3,569
ot R F T wA (o] F3) 812,586
1) A Am] 420-02 |777,740,0009 %X 3.8106%= 29,636
2) A4 777,740
7h F-olx 420-03 |21,020,0009l x 53 = 105,100
) A"z 420-03 21,020,0009 x 44 = 84,080
th A9 % (thEA A) 420-03 |21,020,0009 x 42 = 84,080
2h) 1A= S 420-03 |21,020,0009 x 184 = 378,360
uh) A= (A E ) 420-03 |21,020,0004 X 64 = 126,120
3) A on) 420-05 |777,740,00049 X0.670%= 5,210
gh Bo =7k oy 32,600
1) A]éﬁﬂ] 32,600
7h Bz 420-03 |5,000,0009 X 27 2= 10,000
) Fotx 420-03 |2,170,0009 x 44 = 8,680
hH 9% 420-03 |1,740,00091 x84 = 13,920
o}, 9)H B 2= 664,389
1) AAm] 420-02 1631,950,0004 ¥ 4.4373%= 28,041
2) AN 631,950
7h AL x (A A) 420-03 |13,383,0009 x 44 = 53,532
W 3= 420-03 |13,383,000€ x 244 = 321,192
b =S 420-03 |11,877,0009 X 144 = 166,278

A4 - AHBAAAAA - AL RA AN
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At < A& AU S 201949 (A) 2018 (B)
th 1HE=HASBAEE 420-03 71,000€ X 150m= 10,650
v A= (A gEs) 420-03 |13,383,000¢ x 64 = 80,298
3) A F-H) 420—-05 631,950,000€ X 0.696%= 4,398
B YR =3 94,314
1) A AN 420-02 |87,500,0009 X 6.844%= 5,988
2) A]AH] 87,500
7Y 1A Z () 420-03 590,0009 x54 = 2,950
W) 73t x 420—03 1,910,0009 X 264 = 49,660
h B3 x(F2A2) 420-03 [590,0009 x 34 = 1,770
) B3 2 (EH4]) 420-03 |590,000¢) x 2,54 = 1,475
nl) Bolx (HBE) 420-03 [590,0009 x 44 = 2,360
vp) Holx (TA) 420-03 590,000¢ x 24 = 1,180
AP Folx 420-03 |590,000¢ x 18.54 = 10,915
oh) AYx ()2 A) 420-03 1,910,0009 x 34 = 5,730
zp A= 420-03 |1,910,000€9 x 64 = 11,460
3) Al F-H) 420—-05 87,500,000€ X0.945%= 826
AF A B RS 253,258
1) AAm 420—02 239,125,000¢ X5.191%= 12,412
2) A]AH] 239,125
7hH 1A= AAREH) 420-03 |19,130,0009 x84 = 153,040
W did= A ggs) 420-03 |19,130,0009 x4.54 = 86,085
3) A E ] 420—-05 239,125,000 X0.720%= 1,721
o}, HHH 58,740
1) AlAdn] 58,740
7hH Edx 420-03 |5,340,0009 x 34 = 16,020
) Alg= 420—-03 5,340,000 x84 = 42,720
2 Ay E R d 4,502,026
1) A]Adn] 4,488,874
7hH mAlg Ry 420—-03 179,620,0009 x 43,54 = 3,463,470
) sixdgnde 420-03 |93,570,0009 x 64 = 561,420
) YRR 420—03 94,0009 X 4,936m'= 463,984
2) AR n) 420-05 |4,488,874,00091 x0.293%= 13,152

A = EFAFNAAAL — StwA A w537 Al
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(9] D)

A S == A5 AU S 20199 (A) | 20189 (B) | TH(A-B)
2}, ot 97,300
1) A AN 420-02 7,100,000 x 124 = 7,100
2) Al 90,200
7h HAEen e 420-03 200,000¢ X 400m'= 80,000
W) wpaag gl ek 420-03 20,0009 X410m'= 8,200
t}) =& 420—-03 [2,000,0009 x 17}= 2,000

2. FFAIANA 68,700 68,700
7F F Al A 68,700
1) Al 68,700
7H HFEEFXLY 420-03 |22,900,000¢ X 17h 2= 22,900
) A8z 420-03 22,900,000 X 17} &= 22,900
b el 420-03 22,900,000 x 17} 4= 22,900

3.9 - A AN A 720,398 512,797
b - G A AR A 720,398
1) A AN 420-02 |685,885,0009 X 4.345%= 29,801
2) Al2dn 685,885
7hH 13z (A3 420-03 17,310,0009 x 214 = 153,510
W) o= (AAEHR) 420-03 |7,310,0009 x 54 = 36,550
) uFA=(ED) 420-03 7,310,0009 x 124 = 87,720
2 1A x 420-03 |7,310,0009 x 34 = 21,930
uh) o}z 420-03 |7,310,0009 X34 = 21,930
uh) Ak () 420-03 7,310,0009 x 34 = 21,930
AP A (X DE) 420-03 4,520,000 x 32 = 13,560
oh) Az 420-03 |7,310,0009 x5 = 36,550
2 ez 420-03 7,310,000 X 7.5 = 54,825
2h) Az (A 420-03 |7,310,0009 x84 = 58,480
7H A= (EAE) 420-03 17,310,0009 x 124 = 87,720
BH A=) 420-03 [4,520,0009 x 44 = 18,080
) g5 () 420-03 |7,310,0009 x 22 = 14,620
3hH A= (A e 420-03 7,310,000 x 32 = 21,930
A) AUFE 420-03 7,310,0009 x 14 = 7,310
) opak= 420-03 7,310,000 x 42 = 29,240

m

A = EFAFNAAAL — StwA A w537 Al
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2% (gl - A9

)=
s NERE B HE ] 20199 (A) | 20189(B) | 24 (A-B)

3) Al Eon] 420-05 |685,885,0009 X 0.687%= 4,712

4, AN 6,928,418 1,694,668 5,233,750

7F W B 172,000
D WA 537 AF 89 172,000
7hH BFESAY (ETS) 420-02 |23,000,0009 x 14 = 23,000
W) ZEESAY (THEAA) 420-02 115,000,000 x 12 = 15,000
o) 1F= ) 420-02 [23,000,0009 %124 = 23,000
) A (2B 420-02 [15,000,000¢ x 14} = 15,000
p) A= (A AEH) 420—-02 [15,000,0009 x 14} = 15,000
vh) A= (23%) 420-02 115,000,0009 x 14 = 15,000
APt F (A1) 420-02 |15,000,0009 x 14 = 15,000
oh) AT (ZEH) 420-02 23,000,0009 x 14 = 23,000
ZH AT (FHekE) 420-02 |14,000,0009 x12)= 14,000
) 133 () 420-02 14,000,000¢ x 14 = 14,000

IS R R s e 30,980
1) AlAdn] 30,980
7h 7FE % (E3%) 420-03 [4,0009x912m'= 3,648
W T8N 420-03 |4,000€] X 255m'= 1,020
) S35 (0544) 420—03 [4,0009 x224m'= 896
) Fax(ETE) 420-03 |4,0009x1,142m'= 4,568
np) A E(EAE) 420-03 |4,0009 x1,248m'= 4,992
v IS (EaE) 420-03 [4,0009 x2,236m'= 8,944
AH A= (EAE) 420-03 14,0009 x1,728m'= 6,912

o A A 82,403
1) A 420-02 |76,315,0009 X 6.978%= 5,325
2) Al 76,315
7H A (WEa) 420-03 110,090,000¢ x 14 = 10,090
W u3dE () 420-03 173,0009 X 325m= 56,225
) 1 F(AEE) 420-03 |10,000,0009 x 12 = 10,000
3) AT 420-05 |76,315,0009 X 1.001%= 763

2t A (A ) A 623,957
1) A AN 420-02 |593,280,0009 X 4.468%= 26,507

m

A = EFAFNAAAL — StwA A w537 Al
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(9] D)
A S == A5 AU S 20199 (A) | 20189 (B) | TH(A-B)
2) AlZdn| 593,280
7H mAZ RSN 420-03 | 14,640,0009 X 52 = 73,200
W) Az ES) 420-03 |11,040,0009 x 184 = 198,720
h i (Aaga) 420-03 |14,640,0009 x 32 = 43,920
2h) dAd T (FH13) 420-03 |11,040,0009 x 521 = 55,200
uh) A F (F3H23) 420-03 |14,640,0009 X 52 = 73,200
vhH A= 420-03 |11,040,0009 X 4.5 = 49,680
Ab opitk= 420-03 |11,040,0009 x 94 = 99,360
3) Al o] 420-05 |593,280,000€ X0.703%= 4,170
up, 13T 2 AN 6,019,078
1) AldH] 5,868,410
7hH E3E47 420-03 12,270,000 x 332 = 404,910
W} wANE 420—03 [132,710,0009 x 2421 = 3,185,040
h AdAdN= 420-03 59,270,0009 x 64 = 355,620
2 A= 420-03 |127,140,0009 X 64 = 762,840
uh) A A A ol L A 420-03 400,000,0009 x 12]= 400,000
v AL w 7] 420-03 |2,500,0009 x 244 = 60,000
AP A7 w A A 420-03 |700,000,0009 x 14 = 700,000
2) Zkeln] 420-04 |135,000,0009 x 14 = 135,000
3) Al H-tH] 420-05 |5,868,410,000¢ X0.267%= 15,668
5. 5 ANA 794,355 373,484 420,871
7}y, 2k 34,904
1) Al 34,904
7 FA&%= 420-03 |354,0009 X 26m= 9,204
W) AdEsx 420-03 |514,0009 X50m= 25,700
(B R 64,097
1) AAm] 420—02 59,276,000 X 7.088%= 4,201
2) A 59,276
7hH T8 % 420-03 292,0009 X 63m= 18,396
) djo}x 420-03 [292,0009 X 140m= 40,880
3) A Fn] 420-05 59,276,000 X 1.047%= 620
ok % 374,165

m

AN — B ANAANNE — St A w2 A
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GRIE L)

A S == A5 AU S 20199 (A) | 20189 (B) | TH(A-B)
1) A 420-02 |354,106,0009 X 4.945%= 17,510
2) A 354,106
7 tolx 420-03 58,0009 X 120m'= 6,960
) Bolx 420-03 |242,0009 X 260m'= 62,920
) Hdesx 420-03 |242,00091 X613m'= 148,346
h A= 420-03 93,0009 X 160m'= 14,880
up) opikx 420-03 |242,0009 X 500m'= 121,000
3) A F-H) 420-05 |354,106,0009 X0.720%= 2,549
E A 33,650
1) A Am] 420-02 |31,400,00091 X 7.168%= 2,250
2) Al 31,400
7H AAEx 420-03 [31,400,000¢ x 12} = 31,400
nh AdEE 28,220
1) AlAdn] 28,220
hH 3% 420-03 |1,660,0009 X17m= 28,220
] e S el 259,319
1) A AN 420-02 (247,016,000 X 4.234%= 10,458
2) Al/dH] 247,016
7h A 2 (LZAA ) 420-03 |78,0009 X 2,372m'= 185,016
W) ez 11‘1-74]%7]1 420-03 |62,000,0009 x 12 = 62,000
3) Al o] 420-05 247,016,000 X0.747%= 1,845
6. A71AIE A 510,415 526,243 15,828
7} 2" A4 (LED) 510,415
1) A Am] 420-02 |484,560,0009 X 4.616%= 22,367
2) Al 484,560
7hH A=A 420-03 13,820,000 x5 = 19,100
W) 1z ED 420-03 |3,820,0009 X 184 = 68,760
h A ) 420—-03 [30,000,0009 x1.54]= 45,000
2} Bz 420-03 |3,820,0009 x 64 = 22,920
up) AlEE (2 420-03 |3,820,0009 x 24 = 7,640
v A2 (D) 420-03 27,000,0009 x 14 = 27,000
AP AE x (21 A& 420-03 |3,820,0009 x 34 = 11,460

AL - AFEE AL - FuAE SN
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S (el - ")
e RERE 2= RESE 20199 (A) | 20184(B) | Z7(A-B)
oh) Az 420-03 |3,820,0009 x 124 = 45,840
21 8z 420-03 3,820,0009 x 254 = 95,500
b a3E 420-03 3,820,000 X 62 = 22,920
7hH 1A= (EFEE) 420-03 13,820,000 x 1= 3,820
BH A= 420-03 13,820,000 X104 = 38,200
sh) JUE 420-03 3,820,000 x4 = 15,280
3h A= 420-03 [3,820,0009 %124 = 45,840
7)) o}ak= 420-03 3,820,000 x 42 = 15,280
3) Al o] 420-05 |484,560,0009 X0.720%= 3,488
7. AAARAUAETE 5= 22,500 21,600 900
7} 2 F A A 22,500
1) 7HE = 620-04 |1,500,0009 x84 = 12,000
2) Fdx 620-04 |1,500,0009 X724 = 10,500
8. 3 ANA 166,132 680,000 513,868
1 R 166,132
1) A 420-02 |155,585,0009 X 5.980%= 9,303
2) A 155,585
7h e A (AR 7] WA 420-03 |17,180,0009¢ x 1= 17,180
W) A (A o oA 420-03 |1,800,000¢ X 57} 2= 9,000
o) 1% x D) 420-03 86,270,0009 x1.54= 129,405
3) A H-tn8] 420-05 |155,585,0009¥ X0.800%= 1,244
9. Al A NA (A 44,160 14,796 29,364
7F A2 () A 44,160
1) 23A9% 620-11 |11,040,0009 x 44 = 44,160
10. Y F&A A (AHR) 22,504 31,400 18,896
7}, 4 22,504
1) 1&3EF 620—11 58,0009 x388m'= 22,504
11. A7 A1 A (AHR) 15,280 0 15,280
7}, 2" A4 (LED) 15,280
1) 23A9% 620—-11 |3,820,0009 x 44 = 15,280
12. AARUAERSEF (AH) 49,500 0 49,500
7}, -8 A A 49,500

m

A = EFAFNAAAL — StwA A w537 Al
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GRIE L)

AF A= dEUWY 2019 (A) | 20189(B) | T3 (A-B)
1) n3E= 620—11 |1,500,0009 x 1241 = 18,000
2) Aol = 620-11 |1,500,0009 x 194 = 28,500
3) GM= 620—11 |1,500,000¢ x 241 = 3,000
116,880 134,784 217,904
116,880 134,784 A17,904
32 ¢ 28,680 25,230 3,450
Aldge-FA 4 630 630 0
L AN YELY 630 630 0
7}, A e 210-06 |80,000¢ X6 x 13]= 480
1. 3o 3] 230-02 |15,0009 X107 x 18] = 150
%9334 28,050 24,600 3,450
1. BASLEBL I Y 28,050 24,600 3,450
7h. A Al A oG- 28,050
1) A 210-06 40,0009 X 247k 1772 x 108] = 13,600
2) AlH) 310-01 [8,0009 X 10% x 53] = 400
3) $9g= 210-01 |50,00091 X 281% x 13]= 14,050
88,200 109,554 21,354
TABLGRY 88,200 109,554 A21,354
1. ZIEEABEATGE 30,000 30,000 0
7} =AY 430-01 |15,0009 x 2,0007 = 30,000
2. ZEATANBAELUHEES 29,000 40,300 211,300
7). A A 210-01 |4,000,000¢ x 12]= 4,000
. A7 E g 7] 430-01 |25,000,0009¢  1tj= 25,000
3. A EAEAS9I= Y 11,200 18,400 27,200
7}, I AHAAEE 210-02 [450,0009x12¢¥= 5,400
. &%) B4 210-09 400,000 x 12¢= 4,800
. $ojex 210-01 |100,000€ x 105 x 13]= 1,000
4. A YA 2 AR 22 4,000 2,000 2,000
7}, g A"t 7 440-01 |20,0009 X 200%= 4,000
5. ZZEAAE3 AL 14,000 10,800 3,200
7h B RS A YA Y 5,600
1) A 210-06 40,0009 x4 x 108] = 1,600
A ] 3 5T E - AT GA Y 35/47




(9] - )

s Areipel %A Aol 2019 (A) | 20189(®B) | S7(A-B)

2) 7HA1) 210-04 |3,0009 20 x 103]= 600

3) =AY 210-01 |10,00091 X 9% X 108 = 900

4) ARG 210-01 |50,00091 X 10% x 13]= 500

5) WALEE 210-01 |50,0009X10F %X 43]= 2,000

L, Zrol 7= A A 5ol H 8,400

1) AAS 210-06 40,0009 X294 x803] = 6,400

2) 7FAn) 310-01 [3,0009 %1007 x 13]= 300

3) AT 210-01 |10,0009 X 175 x 103] = 1,700
o 4,938,473 8,519,628 23,581,155
ISP LR 1,691,087 1,342,009 349,078
2 7] 3 3] 12,300 11,678 622
TSAA7) Y B 9,060 8,418 642
1. FeY4FAgTEFR 9,060 8,418 642

7} 3w e-A g 3 3,300

1) A=A = 210-01 5,0009 X 4005 X 13] = 2,000

2) *9EFE 210-01 |50,0009 x8F x 13]= 400

3) 893 230-02 |15,0009 x 207 x 33] = 900

B AR R R A 1,250

1) Zk2]n] 310-01 |3,000€ X 2007 x 13| = 600

92) EAT-9] 210-01 |10,0009 x65% x 18] = 650

o WA AR ) ) 2,940

1) ZAre (fRh) 440

7hH 7]& 210-06 [70,0009 x 14 x43]= 280

) =3} 210-06 40,0009 X1 x4 3t= 160

2) 28] 210-04 [8,0009 X509 x13]= 400

3) 7F21H) 210-04 |3,0009 x50 x 43]= 600

4) 531743 &) 210-01 |30,0009 x50 x 13]= 1,500

TR FAIET 1,570

1) #A=A2 210-01 10,0009 X 65% x 23] = 1,300

2) ¥ 9|3 230-02 |15,0009 x 97 x 23] = 270
SRR A B Ry 3,240 3,260 A20
1. ZEFHAIA B2 2,340 2,360 A20
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A8 CA)
E/{ij} }\]_(ﬁLHQ_Ij %—A—]]% {\l—%bﬁ 20191{3(A) 2018]{3(]3) @'(A_B)
A Sl R R R = R R ke 2,340
D AT 210-06 (80,0009 X 9™ x 23] = 1,440
2) AH] 310-01 |8,0009 X137 x 23]= 208
3) =479 210-01 10,0009 X 13% x 23] = 260
1) $dgx 210-01 |54,0009 x 4% x 23] = 432
2. 3 §A LA EFIA L 900 900 0
7h WS H YA SR 900
1) $98= 210-01 |20,0009 x 3% x 33]= 180
2) & 2] 3 230-02 15,0009 X 167 x 33| = 720
ZHA B 6,250 1,850 4,400
6,250 1,850 4,400
1. A A 4,500 600 3,900
7}, ZFAFEHEH) 250-04 |5,0009 x 3 x 403]= 600
U R EEAY 430-01 1,300,0009 x 3dj= 3,900
2. F-o AL H A 733t 1,750 1,250 500
7k AHA 3 1,750
1) A=A 2 210-01 |5,0009 X 100%-x 13]= 500
2) AT (dHh) 500
7hH 71& 210-06 160,0009 x 278 x 13 = 320
W) %3 210-06 |90,000¢ x 2 x 14| 7= 180
3) S99 210-01 |50,0009 X 6% x 13]= 300
4) 823 230-02 |15,0009 x 157 x 23] = 450
7)1 %% 7} 2,060 2,000 60
2,060 2,000 60
1. Z5BA 7| BFH7ILALE 2,060 2,000 60
7t WS ALY H 7t 2,060
1) AAG 7 A G M A w7 500
7h A A= 210-01 |5,0009 x50%x 23] = 500
2) ZFAB 712 2 3] 1,560
7h 2= 210-06 |80,0009 x 47 x 23] = 640
L}) 221211 72 1] 210-06 20,0009 x4 x 23] = 160
th 2] 210-04 |8,0009 X107 x 23]= 160
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o )=
o | A Arg1ped 2= wE) 20199 () | 20188 (B) | Z4(A-B)

) +98F 210-01 |50,0009 X 6% x 23]= 600
ISP P PR3 9,434 7,848 1,586
AESPFFEA 2L S 9,434 7,848 1,586
1. A" # LY 8,774 7,188 1,586

7F AAr S 2 4,806

1) PCg] 210-09 |50,0009 X 10% x 23] = 1,000

2) PCEFXZ 13 210-09 [66,0009 x41t]= 2,706

3) AAARE 210-01 |55,000€ X 10% X 23] = 1,100

15 I B R 3,968

1) H/W-HA B 210-09 |49,600,0009 X 8%= 3,968
2. SH oA FA &Y 660 660 0

7h. E o] A Q1 gl A H] A 210-01 |55,0009 x 129 = 660
TSI PAAZTUI|ZEHT 240 0 240
ISR 72 EHE 240 0 240
1. 7|Z3ERERAT S 240 0 240

7t 715 71 2 3 240

D AAre 240

7p 7= 210-06 [80,000¢ x 27 x 13]= 160

W) x3 210-06 |40,0009 x 27 X 1A| k= 80
v G du) Al & L Bt 1,305 1,303 2
B4t A L B kg 1,305 1,303 2
1. v A E L H et 600 600 0

7F A sk E A 600

1) 24 210-04 |8,0009 X457 x13]= 360

2) L9E&=& 210-01 24,0009 X10F % 13]= 240
L exAL 705 703 2

7}, A1) 210-04 [8,0009 X457 x 13]= 360

. 2] 210-04 |3,00091x 45 x 28] = 270

SRR 210-01 |15,0009 x5% x13]= 75
o AdAt &z 700 600 100
oAt &g 700 600 100
1. ZEIA ARG FR 700 600 100
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T REA LA e
9] Al - A < == A5 AU S 2019¢(A) | 20184 (B) ZH(A-B)
A A

7}, A A = 210-01 10,0009 x 404 x 135]= 400

. 93] 230-02 |15,0009 X109 x 23] = 300
A5 49,625 26,330 23,295
AL EEZH T 49,625 26,330 23,295
1. = - FHAA#EE 5,740 7,380 A1,640

7V ARGV UEAFEFE R 210-01 |550,0009 X 63]= 3,300

I e 210-06 |80,0009 x 27 x 43]= 640

| R Eaaat=] 210-01 |50,0009 x63]= 300

gk, T A 5] 250—04 60,0009 x 19 x 123 = 720

u}. ¥ 3] 230-02 |15,0009 X134 x 48] = 780
2. 2 A 16,340 0 16,340

7} AV o+ 210-02 |5,0009 x129= 60

U A= F 210-02 |5,0009%x12¢¥= 60

| S A s s 210-09 1,600,0009 X 23|= 3,200

g} AP EFA 210—09 410,0009 X 2% x 23] = 1,640

ul, FolAn| Lo 210—13 100,0009x12¢= 1,200

vl A AR E 210-15 [38,0009 xX5% x 23] = 380

A AEAY A A LA 420-01 14,0009 % 2,450 = 9,800
3. 55HT 8,104 0 8,104

7} 20 620—03 [8,104,0009= 8,104
4, TSN AFZA 3] 19,441 18,950 491

7} S A A G A 3] 8] 210-02 |19,441,000¢= 19,441
sl X A| & 1,490,217 1,179,376 310,841
sl X] A 3 332 1,490,217 1,179,376 310,841
1. X F F 3% 300 300 0

7} 8§ 9] 3 230-02 15,0009 X109 x23]= 300
2. 2 AR Y 1,423,167 1,111,244 311,923

7}, A A A An] 110-03 |100,0009 x573]= 5,700

U Bt ek ws 1,000

1) ZA e (Lyh 500

7hH 71 210-06 160,0009 x 178 x 23] = 320

W =3t 210—06 [90,0009 X 17 X 2A]7k= 180
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(9] - )

)=]
s Ayl %A% a4 20199(A) | 20189(B) | FF(A-B)

2) S0 Q% 210-01 |50,0009 x 5% x 28] = 500

o F e A g 152,983

1) oALHEgw (2] 210-10 |17,703,000¢= 17,703

2) 441 620-03 |9,059,0009= 9,059

3) 258w (154) 620-03 |126,221,0009= 126,221

g, AAM A2 (12) 210-07 |767,408,0009= 767,408

n}, QFA | E ARSI AR 266,076

D 529 620-01 |14,782,0009 1% = 14,782

2) 258w 620-01 |14,782,0009 X177 = 251,294

vh, B8 A9 (3420%) 430-01 |115,000,0009 x 2t)= 230,000
3. SQEA Y 66,750 67,832 1,082

7}, elAIm) % 9 620-03 |66,750,000¢= 66,750
T52o] 8 15,140 6,684 8,456
Hog=n g-S3e] s 15,140 6,684 8,456
1. S5 d3 A 4,134 3,684 450

7h St g e 3,684

D A (LR 500

7 7)1 210-06 |160,0009 X 2% x 18] = 320

W) 23} 210-06 |90,0009 x 27 X 1 ] 7}= 180

2) M 210-06 |40,0009) x 27 x 18] = 80

3) 2u] 310-01 |8,0004¢1 x 447 x 338]= 1,056

4) 7F4H) 310-01 |3,0009 %447 x 43]= 528

5) A EEn] 210-01 |10,25091 X 40% x 23] = 820

6) AP L E 210-01 |50,0009 x 2% x 23] = 200

7) BALEE 210-01 |50,0009 X 5% x 28] = 500

L I TA R R R S 450

1) §2l3 230-02 |15,0009 x10% x 33]= 450
2. RS uFA GG 3A A 11,006 3,000 8,006

7h, SRR Ao A A 11,006

D A (5E) 4,900

7 7)1 210-06 |200,0009 X 1% x 143]= 2,800

W) %3 210-06 |150,000€1 X 17 X 144 3k= 2,100
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A A P RS (k9] 1)
[e) 1=}
o | A NERE 2 = HE ] 20199 (A) | 2018d(B) | Z%(A-B)

2) Als7) 522 1) 7 ) 210-06 |70,0009) x 17 X 143] = 980

3) 9= 210—01 14,0009 X 31l x 27k x 143] = 1,176

4) A8 &En) 210-01 |6,750€) x 207 x 143] = 1,890

5) AFR&E 210-01 |20,00091 X 2% x 143]= 560

6) AR 210-01 |25,00091 X 3% % 143]= 1,050

7) ¥ 2] 3 230-02 |15,0009 X 107 x 38| = 450
Al A e 103,816 104,340 A524
A AA] B 103,816 104,340 A524
1. AEAI Z=3 A 9 103,816 104,340 AB524

7. B A A e 96,520

1) 224 210-09 |84,387,0009 = 84,387

2) AA AT g 210-13 |11,416,0008 = 11,416

3) AlAXHg)n) 420-05 |717,0008= 717

L 75 St A A 7,296

1) 233 210-13 |608,0009 x 129 = 7,296
#5977y 3,247,386 7,177,619 23,930,233
7] 2L 91 857,517 466,495 391,022
LA LS 857,517 466,495 391,022
1. 7|2 FE =0 27,800 27,840 240

7h 71871289 78 27,800

1) 71 3R A3 L =711] 250-02 400,0009 x 129= 4,800

2) 7B =0 230-01 |21,000,0008= 21,000

3) A7k 370 230-01 |40,0009 X507 = 2,000
2. 71889 73n] 594,085 217,149 376,936

7}, A uk-e-od A 8,325

1) e 210-01 |342,0009 x12¢= 4,104

2) ez 210-01 |21,21091 X 100%-x 13]= 2,121

3) ¥]En) 210-03 |300,00091 x 774 = 2,100

U g F 2T AA 38,990

1) A7|e 210-02 |1,650,0009 x 129 = 19,800

2) Asta 210-02 |1,000,0009 x 129 = 12,000

3) e 210-02 |125,0009 x129= 1,500
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AL & L |4 A=Y 20194 (A) 2018 (B)
4) QT+ 210-02 [25,0009x129= 300
5) NS A N HF 210-02 [100,0009 x 23] = 200
6) AARZ=RIE 210-02 [26,0009 <159 = 390
7) CTE| Y E A1) 210-02 400,0009 x129= 4,800
o}, 94 e 14,358
1) A5 210-06 50,0009 x261Y4= 13,050
2) FolAn| g 210-13 109,000 x129= 1,308
2. A Abeke) 61,126
1) ALl An]| 20,290
7H 718 F 110-04 |1,100,000¢9 x12€¥= 13,200
h F21n) 110-04 |130,0009 x12¢¥= 1,560
o} AAx}geur 110-04 |630,0009 x 1% = 630
2} A& 7] 110-04 |500,000¢ X 23] = 1,000
u}h) 223 E2)n) 240-02 [400,0004x19= 400
vl §2Z 320-12 [2,000,0009 X 13]= 2,000
AP AR 320—-12 [41,0009x129= 492
oh) A= 320-12 |55,0009 X 128= 660
A 1gRE 320—12 18,3509 x129= 220
21 A B8 320-12 [10,700€¥ x129= 128
2) A3t n) 210-09 [974,0009 %23 = 1,948
3) A7k 7,200
7H HAF 210-02 [300,0009 x23]= 600
) A= 210-02 |1,300,0009 x 23] = 2,600
h AL 210-02 |1,000,0009 x 23] = 2,000
h) trkAr e 210-02 |1,000,0009 x 23] = 2,000
4) A7|ABd S 210-02 |124,0009x127]€9= 1,488
5) 2HPAlA AW A A 210-02 |1,000,0009 x 23] = 2,000
6) HAFFA K 210-09 [1,950,0009x12¢¥= 23,400
7) BAFSA K 210-09 [400,0009 x129= 4,800
vl A A8 A B 11,700
1) A AN 210-09 [105,0009X12% x53]= 6,300
2) A47] 210-09 [50,0009 X9t x12¢¥= 5,400
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T}ﬂ ] Zﬂﬁ}?_]_jl _]'JT—%X]%].% (%H : ;q q])
Z o )=
wopvy S0 | 2R | AT NERE 2 4% Ao} 20199 (A) | 20189(B) | Z%(A-B)
uf, g2 23,101
1) ¥ %54 (30,000kmo] ) 210-10 |10,443,000¢ x 1t} = 10,443
2) &85 (15,000kme] ) 210-10 |12,658,0009 x 1t = 12,658
A, AR 800
1) ZArol AL 800
71 AREE 210-01 |50,00091 X 16% x 18] = 800
o}, g Atol 73| 435,685
1) o] AH] 210-01 |25,041,000¢= 25,041
2) ARRIEA = 210—15 28,500,000 = 28,500
3) H]#EH] 430-01 |382,144,0009= 382,144
3. 7IetA 42 50,500 48,000 2,500
7t A1 A 50,500
1) AFFEF 210-01 41,5009 X 20% x 53] = 4150
2) A7 ET = 210-01 50,0009 X1%F x13]= 50
3) FFFUA A 18,907
7hH A7 F+ 210-02 |1,100,0009 x12¥= 13,200
W A3+ 210-02 200,0009 x12¥= 2,400
o) AT 210-02 100,0009 x 129 = 1,200
2h) NS 210-02 |9,0009 x 1) x129= 108
uh) A71bd A SR 210-02 |78,5409x129= 943
vh) AWA A QAT R 210-02 |88,0009 x12¥= 1,056
4) &4 e 1,800
7hH FolAn| Lo 210—-13 150,0009 x129= 1,800
5) o] 2,600
7 220-01 |20,0009 x5 x 183]= 1,800
W) = 220-01 |40,0009 x5% x 43]= 800
6) Al -FA B 12,744
7h Bl A= 210-01 90,0009 x53]= 450
W) HEeEFAdA 210-01 |18,4009¢1 x48]= 74
th) 34 A 210-09 (50,0009 x 123 = 600
2h) A7) 210-09 |165,0009 x 2= 330
up) A e 210-09 120,000 %129 = 1,440
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CA)

PARSRS I 2_= A& 201949 (A) | 2018 (B) #(A-B)
Hh) HAeo 210-13 |1,500,000¢ x 38]= 4,500
AP e 210-13 |5,350,0009 % 18] = 5,350
7) HlET 10,249
7h AFFE (EA) 430-01 |900,0009 x 1tj= 900
) 2yE 430-01 |250,0009 % 1t= 250
th AFEg-) 2} 430-01 |399,0009¢ x 37)= 1,197
2 271337 430-01 |1,100,000¢ x 2t}= 2,200
nh) AW EE7] 430-01 |800,0009 x 1tj= 800
v A5 av} 43001 |200,0009 % 107]= 2,000
AH VREHMD”| 430-01 |976,0004 x 2t = 1,952
oF) o] E2] el 430-01 |100,000€ x 2t} = 200
2} mE 430-01 |150,0009 x57}= 750
4, 2271229 AN 135,020 133,866 1,154
7}, A=) g7 80,684
D) dnk-g] 13,264
b Hq 210-01 |1,200,0009= 1,200
W) 7ol 210-01 (416,000 x 297 = 12,064
2) B aln) 210-05 |8,000€ x 297 x 303] = 6,960
3) o) 50,100
7h By 220-01 | 20,0009 x 307 x 378 = 22,200
W} Fu 220-01 |40,00091x 30 x 1838]= 21,600
th %9 220-01 |70,0009 x 30% x 38| = 6,300
4) FAEJFZ=7n] 230-01 |350,0009 x12¢= 4,200
5) A G ILF711] 250-02 100,000 x 12¢= 1,200
6) 5417w 9.960
7h a3 59l 250-03 |150,0009 X3 x 129 = 5,400
W) ArE s 25003 80,0009 x 2 x 129 = 1,920
) SAgG T 250-03 60,0009 27 x 129 = 1,440
2h) SHA A S - 250-03 [100,0009 > 173 x 12¢= 1,200
b g 3t 19956
1) kg 0,008
7h H-Aqet 210-01 |1,200,0009= 1,200
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(5] : 29)

A S == A5 ArEU Y 20199 (A) | 20189 (B) | TH(A-B)
) QI 210-01 |416,0009x13%= 5,408
2) EujAln) 210-05 18,0009 X169 x313]= 3,968
3) o] 31,680
7hH # 220-01 (20,0009 x 169 X603 = 19,200
= 220-01 40,0009 x 16 x 93] = 5,760
o = 220-01 |70,0009¥ x16% x 63]= 6.720
4) BdLod i =xn] 230—01 350,0009x12¢= 4,200
5) AANFARLZ=n 250-02 100,0009 x12¥= 1,200
6) 54570 1,680
7H StnR A (RS ERI) Y 250-03 80,0009 x 1% x129= 960
) A (sh4l 250-03 60,0009 % 1 X129 = 720
5. EA A7 EYFFA 9,336 9,336 0
7} k- H) 2,376
1) 713 210-01 |800,000¢= 800
2) 7l 210-01 [394,0009x4%= 1,576
U E o)A 210-05 |8,000¢ x4 x 603]= 1,920
o}, ofH] 2,640
1) ¥ 220-01 |20,0009 x4 x 183]= 1,440
2) & 220-01 |40,0009 x 47 x 48] = 640
3 = 220-01 [70,0009 x4 x 23] = 560
ot FAEIGFF4 230-01 |100,0009 x129= 1,200
I AR s R A B ) 250-02 [100,0009 x12¥= 1,200
6. EX A7 E-EY Y] 40,776 30,304 10,472
7F 7139 7,040
1) AFREE 210-01 20,0009 X 33% x 23] = 1,320
2) =AA L= 210—01 100,0009 X 5% x 23] = 1,000
3) A EF = 210-01 [15,0009 x10Ex129= 1,800
4) TR EFE 210-01 [50,0009X10& % 23]= 1,000
5) MARC#H] 2] 210—15 9609 x2,0009 x 13]= 1,920
U Ty g2 AA 13,400
1) A7eF 210-02 900,0009 x12¥= 10,800
2) Aste = 210-02 50,0009 x 129 = 600
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il s B el s B v Sl B (9] : A9
= o A=)
wopvy S0 | 2R | AT NERE 2 4% Ao} 20199 (A) | 20189(B) | Z%(A-B)
3) AslrrQe 210-02 |50,0009 x 129= 600
4) A7 A "D ASFT R 210-02 |150,000¢ x 23] = 300
5) ARRZRI T 210-02 |100,0009) x 18]= 100
6) ddmAdAAa w3 g 210-02 100,000 x 13]= 100
7) A28 3] 210-02 |300,000€ x 37 %= 900
o}, A 6% g 18,001
1) F2L1An] 13,041
7H 71EF 110-04 [1,032,0009 x12¥= 12,384
W 4 n3 g 320-12 |54,7504 %129 = 657
2) ¥ En 210-03 [300,0009 x 1= 300
3) A ] 210-09 100,0009 %1038 = 1,000
4) AEL=R 210-09 |100,0009 x12€= 1,200
5) A5716-A 210-09 |40,0009 x12¢9= 480
6) FolAn| g 210-13 |165,0009 x12€= 1,980
EINR=PSEUARACIE 210-08 9059 X 1th x 847X 60Y = 435
vk B E TS 1,900
1) H27) 430-01 |1,000,000¢ x 1th= 1,000
2) AFEE (E4A) 430-01 |900,000€ x 1t]= 900
TS BA 7 BAA 2,389,869 6,711,124 274,321,255
FEA LY A E #E 2,389,869 6,711,124 ~4,321,255
1. A GIAA 2,389,869 6,711,124 274,321,255
7}, AR g 210-09 |300,000€ x 994 th= 29,700
U, 3w SR A AN E 1,896,585
1) A AR 1,896,585
7H HANE 420-03 |2,048,0009 X926.1m'= 1,896,585
ok ARl Al 463,584
1) 22k 420-03 ]9,330,0009 x 22 = 18,660
2) ¥R~ 333,008
7 A Am] 420-02 |321,192,000€ X 2.959%= 9,504
) A Al 321,192
(1) 9¥Rs 420-03 |13,383,0009 x 2421 = 321,192
o) AR 420-05 |321,192,000€ X 0.720%= 2,312
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(@) :

AR S &A= A=Y o 20199 (A) | 20189 (B) | =% (A-B)
3) RS ANA 111,916
7H A A 420-02 [105,640,000€ X 5.052%= 5,336
) AlAdn 105,640
1) 7% 420-03 [242,0009 X 340m'= 82,280
(2) w2 A1A 420-03 [292,000€ X 80m= 23,360
o Al HE-in) 420—-05 |105,640,0009 X 0.89%= 940
47/47
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